TITS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION - REVISIONS
@ COPYRIGHT copyright-dBte- prb FTOWTS RESTRVED. O DESCRIPTION DATE DWN | APVD
45 A INTTTAL 21JuN2016 | RL | CW
| -—
B ECR-20-014388 25N0V2020 | WOR | CW
TYPE |:HI0OB HOOD,TOP ENTRY, EMC, B FCR-24-2247231 1INOvV2024 | SC | RB
HIGH CONSTRUCTION, SCREW CONNECTION A
#8|  HIOB#ERLER (L. Seth, B458)
NOTES:
| . TECHNICAL CHARACTERISTICS:
“ HOOD MATERIAL: DIE CAST ALUMINIUM ALLOY
— SURFACE: CONDUCTIVE PAINTING

| AX_SW8 DEGREE OF PROTECTION: P67 (MATED)
THREAD

| = = ' | EASH
R 864
/% KEAE . mEFHER
I”If I 4 Ir \I 3 BHEgR . |PO6 [ (WE)
865 A% M5
THREAD
) H10B HOOD,SIDE ENTRY PG21,EMC,
Egjm ;ézgﬁfE’ | TI120105121-000 | H10B-TSH-EMCS-PG21 HIGH CONSTRUCTION, SCREW TYPE P21
4X M3 " HIOB# Al LR (WEPGP |, Bt Budy)
THREAD HI10B HOOD,SIDE ENTRY PG29. EMC,
TI120105129-000 | H10B-TSH-EMCS-PG29 HIGH CONSTRUCTION, SCREW TYPE PG29
| HIOB#E#LER (WHPG29. Ett, Bedtf)
H10B HOOD,SIDE ENTRY M20,EMC,
TI120105120-000 | HI0B-TSH-EMCS-M20 HIGH CONSTRUCTION, SCREW TYPE M20 TYPE-2-
HIOB#ERLR (MEMP2 0. @it Reke) ] SIDE ENTRY
H10B HOOD,SIDE ENTRY M25, EMC, -0
N © TI120105125-000 | HI0B-TSH-EMCS-M25 HIGH CONSTRUCT ION, SCREW TYPE M2 i
I OBBRRLE (MAMD 5. ik, Buiss)
H10B HOOD,SIDE ENTRY M32,EMC,
TI120105132-000 | HIOB-TSH-EMCS-M32 HIGH CONSTRUCT ION, SCREW TYPE M32
HIOBBRRLA (MAM3D. Bick, Beis)
Y H10B HOOD,SIDE ENTRY M40, EMC,
TI120105140-000 | HI0OB-TSH-EMCS-M40 HIGH CONSTRUCT ION, SCREW TYPE M40
HIOB# AR LR (MEMAQ. B4, Bets)
H10B HOOD,TOP ENTRY PGZ1.EMC,
OBSOLETE  FHH36+H85+—006——HHoB—FoH—FHES—Fo2 HHH—E oM S TR YOS CREW—TYRE R
TYPE 2:HI0B HOOD,SIDE ENTRY, EMC, | 51 ] HIOB#EwLE (TEPGD |, B, BaEs)
HIGH CONSTRUCTION. SCREW CONNECT ION — =

HI0B HOOD, TOP ENTRY PG29,EMC,
HIGH CONSTRUCTION, SCREW TYPE PG29
HIOB#Ak R (MEPGZ 9. meM, Rak)

HI0B HOOD, TOP ENTRY MZ20,EMC,

THE OTHER DIMENSTONS THE SAME AS TO TYPE [(TOP ENTRY)
ZA 20 HIOB®ARLER (ML, meh, Bedk) 63
HMRTEXA | (Tl )8R

T1H130105129-000 H10B-TGH-EMCS-PG29

A
!

TI130105120-000 |  HI0B-TGH-EMCS-M20 HIGH CONSTRUCTION, SCREW TYPE M20 TYPE- 1
RS HIOB#RELE (REM20. Bk, RLsE) TOP ENTRY
PG/M o3l - 2 - |
H10B HOOD,TOP ENTRY M25,EMC, 8- |
TI130105125-000 |  HI0B-TGH-EMCS-M25 HIGH CONSTRUCTION, SCREW TYPE M5 ik

HIOB#ERLER (WEMZ O, B4H. RLER)

HI0B HOOD, TOP ENTRY M32,EMC,
T1130105132-000 HT0B-TGH-EMCS-M32 HIGH CONSTRUCTION, SCREW TYPE M32
HIOB#ARLR (WEM32. met, RLEE)

HI0B HOOD, TOP ENTRY M40 ,EMC,
TII30105140-000 H10B-TGH-EMCS-M40 HIGH CONSTRUCTION,SCREW TYPE M40
HIOB# ARkt (MEMAQ. B4l BLts)
PART NUMBER PART DESCRIPTION PG/M THREAD-1 | PG/M THREAD-? TYPE
# g #o# PG /MELA - | PG/ MESA -2 i
THIS DRAWING IS A CONTROLLED DOCUMENT. |PWN 21 JUNZ2OTO
- o
CH§OY LIU 21JUN2016 [ ] TE TE COﬂﬂ@CJf\V\J(Y
DIMENSIONS: TOLERANCES UNLESS KYLE ZENG
OTHERWISE SPECIFIED: APVD 21TJUN2016 | naME
mm HRIS WANG H1OB-TSH/TGH-EMCS-PG/M
0 PLC - PRODUCT SPEC
I PLC +- B
{i% E:: 2 PLC +-
3 PLC +4- APPLICATION SPEC
4 PLC +- SIZE CAGE CODE |DRAWING NO RESTRICTED TO
MATERTAL FNIEILSEH = WEIG;{T A 2 @ Tw 1 XOW 051 XXOOO
B B CUSTOMER DRAWING SCALE 1 : 1 SHEET 1 OF 1 REVBW

1471-9 (3/13)




	Sheet 1
	Views
	new_view_1
	right_2
	bottom_3
	new_view_5
	new_view_6



